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I. Vocabulary and Structure: Choose the most appropriate answer. (20 57)
(A) Multiple Choice (10 53):
1. Fridays are ___ days in our company; we can wear T-shirts and jeans to work.

(A) impatient (B) casual (C) indifferent (D) prevalent
2. The land was so ____that each year it produced a very large crop.
(A) fertile (B) prudent (C) blatant (D) diminutive
3. Most people will __if you put your hand too close to their eyes.
(A) activate (B) turn red (C) come off (D) blink
4. The main ____ of keeping money in a bank saving account is the low interest rate that banks offer.
(A) encouragement (B) disadvantage (C) challenge (D) reinforcement
5. Many wild animals in the world are on the verge of extinction because their ____ have been
destroyed.
(A) homicide (B) hazards (C) habitats (D) heritage
6. Thereisastrong __ among today’s young people to marry and bear children at a later age than
their parents.
(A) virtue (B) trend (C) origin (D) alienation
7. atthe Battle of Waterloo, Napoleon abdicated and was exiled to the island of Elba.
(A) Defeated him (B) Defeated
(C) Defeating (D) He was defeated
8. It can be said that communication technology is progressing much faster __ even a decade ago.
(A) as it was (B) more than it was
(C) than it was (D) as much as it did
9. canreduce heating costs and conserve limited energy resources.

(A) Houses with improved insulation
(B) Not only houses with improved insulation
(C) As houses with improve insulation
(D) That houses with improved insulation
10. Certain layers of the atmosphere have special names .
(A) indicated their character properties
(B) whose characteristic properties are indicating
(C) what characterize their indicated properties
(D) that indicate their characteristic properties
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(B) Cloze (10 53):

The Boy Scouts of America, a personal development organization focused on boys aged 7-18,
_11 in the United States in 1908. Scouting seeks to enrich and educate the entire boy; the physical,
mental, spiritual, _ 12  social aspects of personal development are all emphasized. By engaging in
all kinds of activities and projects, Boy Scouts earn a variety of badges and awards for achievement.
Their organizational structure is based on a meritocracy; the boys with the most achievements and
awards are given __ 13  positions within the troop. A typical troop, the basic unit of the Boy Scouts,
_ 14 approximately 40 boys divided into patrols of 10 boys each. The highest award in Scouting
is the rank of Eagle Scout. The Scout organization has been popular for more than 90 years. The Boy
Scouts of American has had over 105 million members _ 15  through its ranks.

11. (A) found (B) to found (C) was founded (D) was founding
12. (A) so (B) and (C) but (D) or

13. (A) leadership (B) subordinate (C) scholar (D) opponent

14. (A) joins in (B) compares with (C) depends on (D) consists of
15. (A) pass (B) passed (C) are passed (D) to pass

I1. Reading Comprehension: Choose the best answer. (1057)

A hearing test that analyzes brain waves for subconscious responses to sound has recently been
devised by a team of specialists at the University of lowa. Instead of depending on the patient to
indicate when he hears a laboratory-controlled noise, as in the traditional form of testing, this new
method, called electric response audiometry, enables audiologists to trace the noise’s path directly from
the ear to the brain while the patient relaxes or sleeps. Although brain responses have been used in
other auditory tests for some time, the University of lowa specialists are the only scientists to date who
analyze simultaneously three components of hearing—the responses of the middle ear, the auditory
nerve, and the brain stem. This information helps to identify the precise location of a hearing problem
and, at the same time, to measure its severity. While electric response audiometry is not meant to
replace conventional means of testing, it is especially effective in diagnosing hearing problems in very
young children, multiply handicapped individuals, and psychologically disturbed persons because it
does not require the patient’s active participation.
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1. According to the passage, electric response audiometry can be used :

(A) only if a person is relaxed

(B) whether a person is awake or asleep

(C) primarily when a person is dreaming

(D) particularly if a person hears a loud noise

2. According to the passage, the testing team at the University of lowa is the first to .

(A) develop a method to test hearing by way of the brain

(B) observe the reaction of the brain to a laboratory-controlled noise
(C) study all the parts of brainwave responses at the same time

(D) determine severity of brain damage in hearing-impaired persons

. Electric response audiometry differs from conventional hearing tests in thatit .
(A) studies subconscious responses to noise

(B) demands more hearing-impaired patients

(C) can be performed by any specialist

(D) requires the patient to signal the noise he or she hears

. It can be inferred from the passage that electric response audiometry would be especially
recommended for .

(A) adrum player in a rock band

(B) a very young child who does not talk

(C) a two-year-old boy who has an earache

(D) an old lady who cups her ear to hear

5. According to the passage, which of the following statements is TRUE?

(A) The University of lowa hearing test will lead to a cure for deafness.

(B) The testing team at the University of lowa will win a Nobel Prize for its outstanding
achievement.

(C) The University of lowa hearing test will eventually make other means of testing hearing
obsolete.

(D) The University of lowa hearing test will reduce misdiagnoses of hard-to-test patients.
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I11. Translate the following sentences into either English or Chinese.( 20 57)

1. If we were perpetually conscious of the insecurity of life and happiness, we might easily become
morbid, and lose our ardor in work and pleasure.
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